NREF) ICH — FFBEEFEL (L621000F7) 202144

KEBOICH— FORBAERE ZEEY £7. TR ERA =T
NREZ FEREGR —B¥ & (%) AIER A (%)

1|38 ERE] 389,976 12,999 13.8 39.2
/R T4 264,847 8,828 9.4 45.9
3|HET 150,178 5,006 5.3 29.0
4|FRERmE O 132,647 4,422 47 62.3
5| AHT 129,750 4,325 4.6 21.2
6| H & ATE] 110,308 3,677 3.9 7.3
UL 88,171 2,939 3.1 20.7
8lzEhiE 35,575 1,186 1.3 20.4
9| R AT 30,076 1,003 1.1 23.3
10| EFra] 27,503 917 1.0 15.7
11|RemT 22,515 751 0.8 46.2
12| &1L ERED 17,738 591 0.6 34.1
13|8E—TH 16,820 561 0.6 28.7
14|’ = reE 16,283 543 0.6 61.1
15|14 v E—LIRE 15,756 525 0.6 70.2
16| FBEBAT A Ty 7 15,366 512 0.5 42.0
17|15:28] 15,300 510 0.5 A60
18| B = AT 14,040 468 0.5 72.9
19| —& ka0 13,806 460 0.5 50.6
A0 PANE PN T 13,672 456 0.5 68.1
21|%0O=THE 12,954 432 0.5 23.2
22| R R E ] 12,745 425 0.5 40.2
23| RIBTE 12,500 417 0.4 119.1
24| AT 12,143 405 0.4 35.9
25| KRBT =T B 11,987 400 0.4 45.0
26| L1l 11,456 382 0.4 24.5
274 a A 11,276 376 0.4 167.5
28| R 11,109 370 0.4 16.0
29|RoBE 10,877 363 0.4 87.2
0| BEBH T 10,428 348 0.4 35.2
31| E SRR 10,026 334 0.4 45.2
32|dvEEHT 9,899 330 0.4 31.8
BEKARTE 9,752 325 0.3 13.1
343D A 9,587 320 0.3 23.6
35|5HE AT 9,528 318 0.3 31.7
36| A KB 9,269 309 0.3 92.5
37| AR 9,221 307 0.3 35.0
38|/t +F i 8,932 298 0.3 16.0
39| KE A vt 8,624 287 0.3 247.2
40|RBFERAD 8,203 273 0.3 27.2
41 |RBANAET 7,959 265 0.3 32.8
42|F R AR 7,922 264 0.3 24.9
43|MFE—-TH 7,795 260 0.3 25.7
44| BT 7,781 259 0.3 4.4
45|BFIA B 7,701 257 0.3 19.2
46| EANET 7,633 254 0.3 17.1
AT\ F B F AR Al 7,553 252 0.3 97.5
48| —TE 7,469 249 0.3 445
49| BT = HT 7,292 243 0.3 36.7
50| 5 A48 7,267 242 0.3 28.0




NREF) ICH — FFBEEFEL (L621000F7) 202144

KEBOICH— FORBAERE ZEEY £7. TR ERA =T
NREZ FEREGR —B¥ & (%) AIER A (%)
51|15 LAR 6,912 230 0.2 15.4
B2|EEEIRE L > X —H] 6,819 227 0.2 191.7
¥ pegiubod= 6,786 226 0.2 43.8
54| Hk EZE BRI 6,772 226 0.2 28.6
55|FTAAD 6,752 225 0.2 19.8
56| AR S E] 6,746 225 0.2 41.3
Y Eib K 6,503 217 0.2 110.9
58| LA FErET 6,491 216 0.2 33.9
59| A BFfhET 6,414 214 0.2 36.2
60| B EAN 6,328 211 0.2 36.9
61| FR—TE 6,245 208 0.2 33.3
62|MEFZ AL 6,224 207 0.2 74.2
63| 7/ Et 6,220 207 0.2 25.7
645N 6,175 206 0.2 22.9
65| AT 6,140 205 0.2 43.7
66| SR AT 6,102 203 0.2 19.7
678 R hFE] 6,050 202 0.2 37.9
68|Z =T B 5,930 198 0.2 32.8
69| A EFTET 5,872 196 0.2 375
70|58HE 5,860 195 0.2 21.2
T1{EEAM 5,848 195 0.2 87.1
72|t/ TR 5,842 195 0.2 40.8
BFrREEL > X —H] 5,817 194 0.2 14.4
B PN 5,798 193 0.2 27.9
75| & HERFE O 5,756 192 0.2 59.0
76| ERT—T B 5,722 191 0.2 66.3
T EEEFFEAO 5,711 190 0.2 25.8
78| &tk 5,636 188 0.2 11.2
19| KILHE 5,622 187 0.2 40.6
80|l2=v > 754 5,615 187 0.2 31.0
81| LR ATHEEL AT 5,609 187 0.2 7.8
82| FTE LR 5,587 186 0.2 14.4
83| m 5,509 184 0.2 59.0
84|FTBS B & & HF 5,500 183 0.2 42.9
85| = Hi& 5,443 181 0.2 45.2
86(#8)11 /= 5,418 181 0.2 25.5
7|EER 5,373 179 0.2 39.1
88|/hEtEAmME 5,359 179 0.2 25.6
FSie] PieSt=c1: i i = 5,234 174 0.2 38.7
90|k 5,191 173 0.2 315
I LARFETHE 5,187 173 0.2 11.9
92| A MR E 5,178 173 0.2 34.3
93| &AL 5,166 172 0.2 35.7
94| FEHIK 4 > & —i 5,130 171 0.2 12.9
95| EEEAR 5,118 171 0.2 18.7
96| & AT 5,112 170 0.2 12.5
97 |FR A ABT AT 5,057 169 0.2 53.9
98|FR AT 5,028 168 0.2 5.2
M9|F=EE 5,011 167 0.2 28.9
100|Z il 4,988 166 0.2 29.8




